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& &t 650 650 19500 30. 00




1. 7 MHEASRVEET

BRI {82 1 0D B | = SR 1 A 7

R X [ #(Ho e
Yo 6410, 4 0 WS (1)
o, 062 0 HER )
i s 0 I (3)
e Nl 3 HHER (1)
s 2 HER 5)
ot 0 HER 6
ok 0 HER ()
ot 0 HER B
ot 0 HER 9)
Nﬁbé? 0 HE (10)
Nﬁé?; 0 HER (11)
Ngoéi; 7 0 s (12)
Ry 0 WS (13)
Nﬁoséﬁ%o; 0 RER (14)
ot 0 WHEE (15)
N0N03.53+64+64,77N 0 HIER (16)
N§03§;(1)94; 0 RER (17)
o torts s 0 WIS (18)
NON04.04+14+3939~ 0 HHER (19)
%5.4411193 09,; 0 WER (20)
- 4N10+.3402. - 0 HE (21)
Ngﬁfﬁ 4 0 I (22)
N§o4_21;g14: 0 HER (23)
N(ﬁod‘.24+32+14'.4zw 0 TS (24)
&?.4433++344,22 0 s (25)
e 0 HiER (26)
N§Z44+427, 5 0 WiER (27)
NON04.44+52+12',52N 0 s (28)

& &t 5 500

1.1m)



2. OUEIAE T (124720 HeRaEE)
2.1 OVEIEATL (ME0. 2mm~1. Omm>R:7i)

Ralk
O OEIFVEA T 280 B
it THE = (m) 0.6
H #hXREE AR (cte=250mm) (K) 3
WM (= RHER) (Kg) 0.2
HEAM Bk A FR) (Kg) 0.03 —_
o AR (@ Bk TLE

(1) HEHE
1. fiifedgBEEEL. 1 TOUENEATEER] KLY Qussresimom

2 L — ()_6 m VUE (0. 2l E)
(2) Jii TAEF

L = (1) #f%E: 2L [k = 0.6 m
(3) BEAREFE AL B

ctec = 250 mm (FEAz=ERE)

N = L ya cte + 1

= 0.6  0.250 + 1 = 3 VN

(4) —¥t

TARFBHIER ( v = 1.7)

w = 50 mm (v —ILiE)

t = 3 mm (> —/LE)

W = 0.050 X 0.003 X 0.6 X 1700 X 1.13 = 0.2 kg

(13% 2 2 L5 Tp)

(5) FEAM

Rk A > MR ( v = 1.5 )

w = 0.70 mm CEBHOOEIIE)

t = 50 mm (FAEFEAEI)

W = oo X 0,050 @ X 0.6 X 1500 X 1.08 = 0.03 kg

(8% 25 Te)



2.2 DOHEINFEHT (IF1. OmmLh )

At

OOEINEIE T HAT
it THER: (b1, OmmPA ) (m)
7T A~ A (Kg)
Fettikf (KU ~—% A FHR) (Kg)
el (n3)
ALY (t)

- K
(1) REHE
1. e SR ERE 1.

1 TOEINEHE TERE) LY

L = 2.8 m
(2) hi LAER
L = (1) #f%E: 2L [k
(3) 7IA4~— (IEHEEME 0. 2Kg/m2)
Uh > FEE
L = 0.01 X 2 + 0.01 X 7 /
A = L X L’
= 2.8 X 0.036
W = A X 0.2 X 1.25
= 0.10 X 0.2 X 1.25
(25% 2 A 25 Tp)
(4) FeHEH
R)<w—t A2 A ( v = 1.95)
U4~ Wi
A = 0.01 X 0.01 +  0.005 X 0.005 X
W = L X A X 1950 X 1.19
= 2.8 X 0.0001 X 1950 X 1.19

(19% =2 2R 25 Tp)

VUDHIhFEET

VUbhhiE 1.0=W

IOMET IS4 27—

10~15mmi2E

A
I\

AUEELEL

0. 036

0. 025

0.0001

0.6

m

m2

Kg

m2

kg



3. WrmfEE T (172 0 Fmat )
1. ffifea B GEm L. 3 TR4E - FEE) L0 THx%) XY
3.1 WrmfEE T (EE)

FEtE
A [ (UNs Wr i S 18R 15 &
2 (m2) (m3) (m3)
BB 1.53 0.08 0.091
) 1.53 0.077 0.091
WEBETL k8 (3ER)
(1) st o i(\g-" \-0°°° -
A [[E s LN .0 e s
2 (m2) (m3) P
2 1.53 0. 08 DA vs—xiomiz
ﬁ:}lt’.ﬂJI
(2) Fo0H T OLEER L
XV IES t=5cm OkEibe
A= (1) #EEEkE: mAEsLY = 1.53 m2
(3) 794 ~—8MmT
A = (2 ToO0 T EHELY = 1.53 m2
(4) WrinEE M H &
ock = 18 N/mm2LA | ( ®pEELZL )
< BRI LV BHERALER A2 G FE 2
vV o= 0.077 X 1.18 = 0.091 m3

(m Z30. 18)



3. WrmfEE T (172 0 Fmat )
1. e EEEL. 4 B XY
3.2 WrmEET (eik)

FEtE
A [fE N i P oy ) —h
2 (m2) (m3) (m2) (m3)
Fi 0.55 0. 083 0.55 0.083
> 0. 55 0. 083 0. 550 0. 083
MEEET_FE (3£R)
N
(1) st ) B
5 AP a7 U—HN g li
HH (m2) (m3) L
mE
0. 55 0. 083 Y Qs Y—}
in o ck=18N/mm
(2) RPET
A= (1) ks mAgLY = 0.55 m2
(3) @7 VY—bL (UNESEMT)
= 18 N/mm2lL I ( vz —Fr )
V. = 0.083 X 1.06 = 0.088 m3

(= Z#0. 06)



4. REHET (150472 0 Hm A )
4.1 REHEL (EEEEEERY A MEAH)

(1) HEsE
- EEMPERER R A > M A

W THUAE | Wb |k E WHE (Ke)
_ (m2) (m2) (n2) w2 o M EAM

flEE )2 X6.0mm | 11.77 0 11.77 138.3
JERR )2 X10. Omm| 18, 72 0 18. 72 366. 7
HiHE 2 X20. Omn| 226. 73 226.73 | 226.173 8882. 4
Jeu I = X20. 0mnl 0. 56 0 0. 56 21.9
G A& JE X30.0mm|  0.00 0 0. 00 0.0

> 257.8 226. 7 257.8 9409. 3 287. 4

(2) THULE (&EREE)

A = 1. fENGEEREL. 4 TREHEET] LV
11.77 + 18.72 + 226. 73 + 0.56 +  0.00 = 257.8

(3) M@t (FFZ') v K (C6-6) _H AV 100mmX 100mm)

A = FHEBE_FHEM I = 226. 7

(4) 794 ~— (EBEEMZ:0.2Kg/m2)
A = (2) THULER : A A, = 257.8
(5) MRAHHEFE

=
Il

(2) THUALEE : A [FIRR, = 257.8

=
=T
i

(6) (B EMERHE /IR A o MEAH, W=1660ke/m3)
0. 006
0.01
0. 02
0. 02
0.03

1660 1.18
1660 1.18

X 138.3 kg
X
1660 X 1.18
X
X
=4

366. 7 kg
8882. 4 kg
21.9 kg
0.0 kg

—_
0 =

8

7
226.7

6

0

1660 1.18
1660 1.18
A ER0. 18)

=====
| |
O O D

XXX XX
X X X X X

‘ (

(7) BHuEF
BUGFTKBEET (IBE, JEMR. AFE) BBTL (M)

KA = 11. 77 + 18.72 o+ 0.00 30.49

H HuAK 10mlz > = 15T
N = 30. 49 /(0. 600+1. 800+0. 600) X 10

600

25.0

L = (0.600+1.800+0.600) X 25 = 75.0 L 1800

4

R K B
WHEE = 226.73 + 0. 56

B #A4 (6mic > = LEFT)
N = 227.29 /(0. 650+1. 650+0. 650) X 6

HhE CFHHiE)

227.29

650

72.0

T

L = (0.650+1.650+0. 650) X 72 = 212.4 1650

4

o>
Ul
+
—
|
-3
o
(=)
+
[\
—
[\
|

287. 4



5. HHuifE T (124720 FEEEE)
5. 1 BH#hFEETE (B30mm >} H15mm )

HEEHER
HiimE T BN
Jits THER: (1. Omm2A ) (m)
7T ~—@A (Kg)
Fedks (U a— % QG ) | Ke)

HihFET (3EX)
BWiEL— 1 L H
(1) Tﬁ{gﬁzi <A T4 ==L (1, 380ke/nd) 30mm SEREH

1. fifextgaGiim 1. 6 THMFmBETHERE] XV —]

L = 0.7 m
ERITSAV—
MP-2000 (0. 20kg/m2) R
(2) jﬁEIﬁE Ny Y7y TH
L = (1) fBEEk&E: L [Fkk = 0.7 m
(3) 7FIA4~— (IEAERME : 0. 2Kg/m2)
U4 MalmE
L = 0.015 X 2 = 0.030 m
A = L X L’
= 0.7 X 0. 030 = 0.02 m2
W = A X 0.2 X 1.2
= 0.02 X 0.2 X 1.2 = 0.005 Kg
(20% 2 R 5 Tp)
(4) FelEH
U a—r%h QTR (1, 380kg/m3)
U N
A = 0.015 X 0.03 = 0.0005 m2
W = L X A X 1380 X 1.2
= 0.7 X 0.0005 X 1380 X 1.2 = 0.52 kg
(20% 2 A LS Tp)



6. HIHE <R Lk E T (104720 Foma 5 E)

6.1 HHE SRAKET

EEEE (%470 1.2m)
iR SRV ER E T HANL B
MR/ (0 5.0
RIEILR (m) 6. 000

- : MBS (BER)
(1) BEHE
1

LS SEERE L. 7 THHE SR LEE T LY 109
o 8]:
RIEH =5 8T IT' |_r|
1200
(2) HEERE 1200
L = (1) sXEfEX1. 2m = 6.0 m | |




KBTI HREtE

IE

Wl

31

Rt

B

il

s %

KT

JKER T

152 49 y—FT

o ck=18N/mm2

m3

0.1

HIER (5) &Y




15avyy—hrI HEHEESE

f#f&= (5) (No. 1+35. 2~No. 1+36. 4)

1HERrHY
[ I
SN
- R
3
/A ErEr—
avo1)—+k
o ck=18N/mm2
A=0. 1m2
wWeER 5) &£V
L= 1. 2m|
MR g =R B =

avyol)—+k 0.1x1.200
o ck=18N/mm2

m3 0.120
EiLp 2 0.1 x2+0. 500 x 1. 200
INBYREEY)

m2 0. 800
FRAE 0.1x1.200

m3 0.120




BEL &£

I7E &R A1 R =X HE =
EEMRBET
EEMIUEL T
a5 — AL #&Fmaro)—k m3 0.06 | HHE/ )L
t 0.20 2.50t/m3
OBk iR HHavo)—k m3 0.06




8. iEmET

8.
1) =2r7 ) — MEEMBIEL (BF_ME S xL)

1

HEYBEE L T

R BT BE (K s =
No. 0~
No. 0+10. 4 - s 1)
No. 0+10. 4~
No. 0+16. 2 - HEX (2)
No. 0+16. 2~
No. 0+28. 8 - TEX (3)
No. 0+28. 8~
’ No. 1 - HIEX (4)
No. 1~
;o 2 2 HE (5)
No. 2~
;o 3 - HIEX (6)
No. 3~
;o 4 - B (7)
No. 4~
;o 5 - B (8)
No. 5~
;o 6 HEX (9)
No. 6~ ‘
;o 7 - THER (10)
No. 7~ ‘
;o 8 - MHEX (11)
No. 8~ ‘
No. 8+48. 7 - HEX (12)
No. 25+17. 0~
— E 5}“
No. 25+21. 8 HEX (13)
No. 31+34. 0~
— E 5}“
No. 31+39. 7 HIEX (14)
No. 33+36. 5~
— 5}“
No. 33+43. 6 MHEX (15)
No. 35+46. 7~
No. 36+4. 7 - HEX (16)
No. 38+10. 4~
— g“
No. 38+19. 0 HEX (17)
No. 40+29. 3~
— g“
No. 40+43. 3 HEX (18)
No. 40+43. 3~
No. 41+9. 9 - MHEX (19)
No. 41+9. 9~
— g“
No. 41+30. 9 HHEX (20)
No. 41+30. 9~
’ No. 42 - EX (21)
No. 42~
— g“
No. 42+15. 4 WER (22)
No. 42+15. 4~
— g“
No. 42+21. 4 HHER (23)
No. 42+21. 4~
No. 43+4. 2 - HEX (24)
No. 43+4. 2~
— Z:“
No. 43+34. 2 HHER (25)
No. 43+34. 2~
’ No. 44 - HHEX (26)
No. 44~
— Z:“
No. 44+21. 5 HHER (27)
No. 44+21. 5~
No. 45+2. 2 - HHEX (28)
> 2 ]




MR/ I

e
&
avy)— rEEE
?-93 A=0. 075m’
Sl A
N J ~ /
1200
1200
(=)
& I
N= 3K
ML B =1 = MY YEE | B e
avyy—FEREEL 0.075%0. 250
85
m3 0.020 3 0. 060
BRI IE
m3  |V=avsy—REEL 0.020 3 0. 060
avyy— 8 85
t 0.02x2.350 0.047 3 0.141




RET HitE

I i | il R =_E(v2 HE e
&
EEER)IFLUE
T RHEKE ¢ 500 m 100.0
En 700 1&{H7-Y
M5 TtHEZ m3 140 | V=0.020m3
® 1400 | 37Av%
Tn5 HiE-HE m3 2.80




R&ZT HEEGHES
1EAAHY
&
| 1650
R HEKE ¢ 500
o
Lo
©
MEIRE g = B ff # =
RBEAKE
EZER)IFLUE
¢ 500 m 100. 000
Tn>5 0.70x1.00x2
m3 1. 400
T x 1.400/0. 02
62 % 48 (1%&#347-10.02m3) = 70. 000
Tn>5 0.70x0.10x2x3
m3 2.800
RE - #BE 1.400/0. 02

62 x 48 (1= %1-Y0.02m3) = 140. 000




